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In a Maths test, Tommy answered 62%
of the questions correctly.

Rosie answered % of the questions
correctly.

Who answered more questions correctly?

Explain your answer.

Tommy answered
more questions
correctly because

3
5 as a percentage

is 60% and this is
less than 62%

Amir thinks that 18% of the grid has been
shaded.

Dora thinks that 36% of the grid has been
shaded.

Who do you agree with?

Explain your reasoning.

Dora is correct
18 36
because o5 = -
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Amir says 0.3 is less than 12% because 3 Amir is wrong
is less than 12 because 0.3 is

equivalent to 30%
Explain why Amir is wrong.

Complete the part-whole model. o
How many different ways can you A=03,30% or -
complete it?

1
C=01,10% or o

Can you create your own version with
different values?

How many different fractions can you

make using the digit cards?

How many of the fractions can you
convert into decimals and percentages?

Possible answers:

Children make a
range of fractions.

They should be
able to convert
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